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(ii)

A B (A+B) | (A.B) | (A+B)(AB)
0 0 0 0 0
0 1 1 0 0
1 0 | 0 0
1 I | 1 1
% -
Y
0.5 0.5 0.5
0.5

(i} Input Device - Flat bed Scanner, Key board

Output Device — Multimedia Projector, Laser Printer

(2 Marks)

0.5 mark each
correct row

(0.5 x 2 +0.5 x2.=2 Warks)

(no marks if correct answer is not given)

(0.5 x 4 = 2 Marks)

A. Half Duplex
B. Simplex
. [0.5x 4 = 2 Marks}
C. Full Duplex
D. Half Duplex
(v)
CION : cf@@w adO8w 88 co®s
174 7 10101110, 256 AE¢
157 100111011, 4734 9D
{0.5 x 4 = 2 Marks)
(i) (A.B}+ B (2 Marks)
{vii A-DOS
B - Windows Server
C- Ubuntu

D — Calculator Operating System

(vii)  A-True
B —False
C - False
D—-True

{0.5 x 4 = 2 Marks)
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1| Var’ :
LR (0.5 x 4 = 2 Marks) 5 FAnay (0.5 x 4 = 2 Marks)
21
317
348
4 | Integer
41Q
i. =5B4-SB4*BS10 ; 2 Marks
ii. Click E4-----Click copy lcon------ select E5 to E6--—---- Click paste Icon 2 Marks
iii. =SUM(E]4:E16) 2 Marks
iv. =MAX(E17:G1T7) 2 Marks
v. Column chart or Bar chart : 2 Marks

(0.5 x 2 = 1 Marks)
i. Publisher Table - Pub_Id, Book Table —Book ld
ii. (a) Publisher Table , Book Table , Book_Publisher Table (1.5x3 =3 1/2 Marks)
{b) Book Table

| B104 | Lowen Thathubindak | Ahuradha Ariyarathne | 3500 | Rs 230 !

Publisher table

| P005 | Dayawansa Jayakodi | | 955-555-128-2 ]

Book_Publisher Table

[P005. ] Dayawansa Jayakodi | 955.555-128-2 . ) N

iii.
{a) Data Redundancy (0.5 Marks)

(b) Difficult to search, difficult to update .....(any correct answe (0.5 x 2 = 1 Marks)

iv.“Composite primary key, (0.5 Marks)
Year + Book Name : (0.5 marks)
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ii.

iil.

Vs

physical Security

Uninterrupted Power Supply — UPS
Hardware firewalls
Locked doors
COTY
Surge protector
‘ (2 Marks)
Logical Security
Passwords
Hardware firewalls
Backups

(0.5% 2 = 1 Marks)

Citing - mention the rightful owner and his information.

Quoting - the use of inverted commas (*...”) to identify a selected of borrowed section.
Referencing - the listing of resources from which the information was collected. This is
usually done at the end of an essay or article. :

(a) Electronic products have becéme non working after reaching the end of their useful life
are known as e waste. ‘ y (1 Mark)

- ‘ % "C i 2 . N - -~ e = ‘, . 1 - . . "v

(b) Mercury, Arsenic, Bariuny Beryllinm, Cadmium, Chromium, Dioxins (2 Mark)

(¢) Reduce usage - Reduce unnecessary purchase by maintaining the existing electronic

devices

Reust - Sell or donate 0ld but working electronic devices without discarding

Reeycle - Directing irreparable devices to an institute which recycle them (1 Mark)
(a) Digital Bridge - Digital bridge is forming connections among people avoiding the
digital divide.

{1 Mark)
(b)
s Increase the Digital Literacy among citizens
e Supply of computers or Organizing the purchase of computers at easy concessionary rates
e Equal opportunities to dispel other financial difficulties
e Participation of intermediaries such as people’s associations and both public and private
sector sponsorship and assistance to make digital bridge success.
» Establishing of ICT infrastructure for rural areas.

e Make facilities to increase English knowledge among people. (2 Marks)
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i. Steps in SDLC % mark for each (3 Marks)

ii. State the function of prototyping in the first phase that used to gather user requirement.
Prototyping *
A model or a prototype of the proposed system to be implemented is developed and

demonstrated to the staff and the users for feedback and comments such as display of

screen shots, records, samples etc. (1 Marks)
iii.
& 8- o dmden Dadd
A,CG B,D.E.F
Y2 mark for each (4 Marks)
iv.

Developing systems to suit new user requiretnemifs:
Issues that surfaced with the use of the. system which were not identified during system
development.

Adopting new, technology into the new system to improve efficiency

(2 Marks)
6.
(a)
1. Dynamic
2. Open source
3. www.niclk
4. Static
(4 Marks)
(b)
@ - hl align="center"
@-br
® - hrcolor
® - center
© - p align="justify"
® - ul type="circle"
@ -yl
© - th colspan="2"
@ - ahref
O -y
{(5Mmarks)

o & %
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{c) File - save as ------save type --------- select encoding type as Unicode------ save

(1Marks)
7.
1(a)
N=1
— Is N<=2000 L
yes
/» Get AdmissionNumber /
]
Get Income
L
is Income<=250000 “allowance = “Mahapola”
is Income<=500000, allowance = “Bursary” >
‘l, No
allowance=Ne allowance”
< \
, Q) - :
Display
AdmissionNumber , allowance
W '
N=N+1
< - Vi
/‘“'y\j .
{ stop {6 MarkS)
(b)
program printNumbers; @ integer
var x:integer ; e for
be%m O downto :
for x .= 10 downto | do (4 Marks)
writeln(x); e writeln
readin();
end.
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